

District 5320 Rotary Foundation Committee

District Grant Report

Rotary Club:	Irvine
Project Title:	Dental & Vision Clinics P-933

Progress Report X Final Report

1. Briefly describe the project. What was done, when and where did project activities take place, and who were the beneficiaries? During Rotary year 2015-2016, we have provided \$135,403 in free dental and vision services to more than 167 children and parents. Since it's inception in April 2005, this program has provided more than \$1 million in free services to the poorest and most destitute residents of the Ensenada community.

2. How many Rotarians participated in the project? More than 60 Rotarians, Rotaractors and Youth Exchange students (Italy, France, Brazil, Germany) from Irvine, Manteca, and Ensenada took part in the project.

3. What did they do? Please give at least two examples. Rotarians selected the school venue for the clinics, arranged for the dental professionals, checked in children, provided vision exams, worked with the dentists, directed patients, kept records, distributed surplus clothing collected by Ensenada Rotarians.

4. How many non-Rotarians benefited from this project? 167 children and parents were treated for dental or vision problems.

5. What are the expected long-term community impacts of the project? Children who are not suffering from dental or vision problems do better in school. Parents of the children do not have to take time off from work to get treatment. Often taking off from work means the family will not be able to eat that day.

6. If a cooperating organization was involved, what was its role? Dental Care for Children provided dental professionals and supplies.

Financial Report – Be sure that Income equals Expenditures!

Amount
3,000.00
7,117.46
come 10,117.46
-

8. Expenditures - please be specific and add lines as needed - receipts must be attached

1. Dr. Fred Stellhorn (glasses)	\$1,000.05
2. Dental Care for Children (Dental supplies, travel, etc.)	\$9,000.00
3. Lunches for volunteers	\$117.41
4.	
5.	
6.	
Total Project Expenditures	\$10,117.46

9. By signing this report, I confirm that to the best of my knowledge these District Grant funds were spent only for eligible items in accordance with Trustee-approved guidelines, and that all of the information contained herein is true and accurate. Receipts for all grant-funded expenditures have been provided to the district. I also understand that all photographs submitted in connection with this report will become the property of RI and will not be returned. I warrant that I own all rights in the photographs, including copyright, and hereby grant RI and TRF a royalty free irrevocable license to use the photographs now or at any time in the future, throughout the world in any manner it so chooses and in any medium now known or later developed. This includes the right to modify the photograph(s) as necessary in RI's sole discretion. This also includes, without limitation, use on or in the web sites, magazines, brochures, pamphlets, exhibitions and any other promotional materials of RI and TRF.

Certifying Signature

Som

Date: March 26, 2016

Print name, Rotary title, and club

Ray Sanford, District Governor-Elect, Irvine Rotary



Board of Directors Charles P. Tozzer, D.D.S. Xerxez M. Calilung, D.D.S. Fred Haight, D.D.S. David Levitt, D.D.S. David Littlefield, D.D.S. Austin A. Wall, D.D.S. David Cerrie Carlos Field Gustavo Jimenez Michelle Rogan Alan Schectman Koert Takkunen Patricia A. Tozzer

To: Irvine Rotary Club P.O. Box 356 East Irvine, CA 92650

Re: Rotary Dental Clinic - October 17, 2015

Date: October 17, 2015

INVOICE

Dental services and supplies for Ensenada dental clinc

\$4,000.00



Board of Directors Charles P. Tozzer, D.D.S. Xerxez M. Calilung, D.D.S. Fred Haight, D.D.S. David Levitt, D.D.S. David Littlefield, D.D.S. Austin A. Wall, D.D.S. David Cerrie Carlos Field Gustavo Jimenez Michelle Rogan Alan Schectman Koert Takkunen Patricia A. Tozzer

To: Irvine Rotary Club P.O. Box 356 East Irvine, CA 92650

Re: Rotary Dental Clinic - March 19, 2016

Date: March 19, 2016

INVOICE

Dental services and supplies for Ensenada dental clinc

\$5,000.00

Manteca Optometric Eye Care Center

140 North Fremont Avenue, Suite A Manteca, CA 95336-4725

Bill To

Irvine Rotary Club District 5320

Description Amount 113 Pairs of Single Vision Glasses for Vision Clinic Held in Ensenada Mexico March 18 and 19, 2016 1,000.05

Invoice

Date	Invoice #
4/1/2016	2

Food Receipts





Checks

IRVINE ROTARY FOUNDATION, INC.	90-4408/1222 1541
EAST IRVINE, CA 92650	DATE 10 BPR 16
MANTECA OPTOMOTRIC EYE CARE	Course \$ 1000 05
ONE THOUSAND MAS 07	DOLLARS 🔂
Plaza Bank Small Business B200 VON KARMAN AVE SUITE 150 IRVINE, CA 92612 A E EYE CLANIC - CLASSIE	NOT NEGOTIABLE
	000908"

ALL TO PERSONNEL MARKET AND	THE REAL PROPERTY OF THE PROPERTY OF THE
	1011
IRVINE ROTARY CLUB	
Impress Account	WW E25hted [®] Check Fraud
P.O. Box 356 East Irvine, CA 92650	90-4298-1222
	DATE 4.13.16
Dette Caller Church	
DENTAL CAME FOR CHUDREN	\$ 2000 ,00
TWO THEORDER OF MO/100	DOLLARS
100 1100 1100	
BANK VENTURE STE 120 BANK (949)76-5000	Two Signatures Required
B A N K (949)766-3000	CLIM
700	ally le M
FOR	
"001011"+1:1222429821: "	26002253
the second s	
	00.44004000
IRVINE ROTARY FOUNDATION, INC. P.O. BOX 295	90-4408/1222 1523
EAST IRVINE, CA 92650	DATE_ 22 DZ 15
	DATE
DENTRO DENTRE CARE HOR CILINA	1\$ 35000
JEK OF	\$ 2500 -
THIRTY Druc HUNDED mo of	DOLLARS
5	
IP Plaza Bank 18200 VON KARMAN AVE SUITE 150	NOT NEGOTIABLE
ADVANCING SMALL BUSINESS I IRVINE, CA 92612	a monte signation of the
Sewan Cam 15	
#001523# #122244087# 2010009	08.
	and the second sec
IRVINE ROTARY FOUNDATION, INC.	90-4408/1222 1539
P.O. BOX 295 EAST IRVINE, CA 92650	DATE 30 MAR 16
LACT INVINE, CA 92050	DATE
DAYTOTHE RAY SANFORD	U'
1 ORDER OF	\$ 117 4
DNE HUNDID SWENTER 100 41/-	DOLLARS DE
	DOLLARS Details on back
Plaza Bank 18200 VON KARMAN AVE SUITE 150	NOTNEGOTIABLE
ADVANCING SMALL BUSINESS IRVINE, CA 92612	CHIRDRIZED GNATURE L b+
FOR DENTRI CUNIC LUNCON	
and the second	
#001539# #122244087# 20100	090 8 "
IRVINE ROTARY FOUNDATION, INC.	90-4408/1222 1540
P.O. BOX 295	
EAST IRVINE, CA 92650	DATE 6 APR 16
EAST IRVINE, CA 92650	DATE
EAST IRVINE, CA 92650	DATE
Dentine CARE FOR CHU	DATE
EAST IRVINE, CA 92650	DATE
EAST IRVINE, CA 92650 Dent ME CARE HOR CHILI THRAY HUE THINDUCS MO MI-	DATE
EAST IRVINE, CA 92650 Dent M. CHORE FOR CHILD THIRTY HUE HUNDHED MD M/ Plaza Bank 1 18200 VON KARMAN AVE SUITE 150	1×Cm 1\$ 3500°2
EAST IRVINE, CA 92650 Dent the CHORE for CHUR CHRMY AUE MUNDUCO MO M/ Plaza Bank BIZOO VON KARMAN AVE SUITE ISO IRVINE, CA 92612	DATE
EAST IRVINE, CA 92650 Dent M. CHRE FOR CHILD THIRTY FUE THINDICS MD M/ Plaza Bank 18200 VON KARMAN AVE SUITE 150	DATE
EAST IRVINE, CA 92650 Dent the Charle for CHU THREMY fut MUNDUS mo M Plaza Bank DOG SMALL BUSINESS IRVINE, CA 92612 IRVINE, CA 92612 IRVINE, CA 92612	MA bollars A State bollars A Million NOT NEGOTIABLE Autoordezessionalitate MOT NEGOTIABLE
EAST IRVINE, CA 92650 Dent K. CHOKE HOR CHUR (HRMY KUL HUNDLOS MO M) Plaza Bank BIZOO VON KARMAN AVE SUITE 150 IRVINE, CA 92612	MA bollars A State bollars A Million NOT NEGOTIABLE Autoordezessionalitate MOT NEGOTIABLE

Iglesia Bautista - Octol Service	oer 16, 2015	Quantity	Value Each	Total Value
Dental		Quantity	Value Euch	
Examinations		5	\$92.00	\$460.00
Composite	1 Surface	1	\$274.00	\$274.00
	2 Surface	1	\$294.00	\$294.00
	3 Surface	1	\$302.00	\$302.00
Extraction	Simple	12	\$194.00	\$2,328.00
	Surgical	1	\$329.00	\$329.00
Removable	Upper Denture	1	\$2,005.00	\$2,005.00
	Lower Denture	1	\$1,947.00	\$1,947.00
	Reline	1	\$500.00	\$500.00
Total Dental				\$8,439.00
Vision				
Exams		60	\$122.00	\$7,320.00
Glasses Dispensed		45	\$85.00	\$3,825.00
Total Vision				\$10,126.00
	Total Day			\$18,565.00
School Colonia Mixtec	a - October 17, 2015			
Service		Quantity	Value Each	Total Value
Dental				
Examinations		68	\$89.00	\$6,052.00
X-Rays		7	\$40.00	\$280.00
Prophys		27	\$110.00	\$2,970.00
Gross Scaling		12	\$190.00	\$2,280.00
Sealants		5	\$50.00	\$250.00
Fluoride		7	\$30.00	\$210.00
Composite	1 Surface	13	\$264.00	\$3,432.00
	2 Surface	10	\$286.00	\$2,860.00
	3 Surface	3	\$302.00	\$906.00
	4 Surface	1	\$329.00	\$329.00
	Pulp cap	5	\$77.00	\$385.00
Extraction	Simple	24	\$190.00	\$4,560.00
Root Canal	Pulpotomy	2	\$226.00	\$452.00
Crown	Stainless	1	\$340.00	\$340.00
Miscellaneous	Open & Drain	1	\$270.00	\$270.00
Total Dental				\$25,576.00
Vision				
Exams		83	\$122.00	\$10,126.00
Glasses Dispensed		75	\$85.00	\$6,375.00
Total Vision				\$16,501.00
Total Day				\$42,077.00
Total Trip				\$60,642.00

Dental Vision Clinic

Service		Quantity	Value Each	Total Value
Dental				
Examinations		94	\$100.00	\$9,400.00
X-Rays		10	\$40.00	\$400.00
Prophys		36	\$120.00	\$4,320.00
Gross Scaling		8	\$205.00	\$1,640.00
Scale & Root Planing		5	\$305.00	\$1,525.00
Sealants		22	\$65.00	\$1,430.00
Fluoride		83	\$34.00	\$2,822.00
Amalgam	1 Surface	3	\$175.00	\$525.00
	2 Surface	1	\$215.00	\$215.00
Composite	1 Surface	32	\$272.00	\$8,704.00
	2 Surface	21	\$294.00	\$6,174.00
	3 Surface	5	\$302.00	\$1,510.00
	4 Surface	1	\$375.00	\$375.00
	Pulp cap	3	\$85.00	\$255.00
Extraction	Simple	20	\$210.00	\$4,200.00
Root Canal	1 Canal	1	\$900.00	\$900.00
	3 Canal	1	\$1,300.00	\$1,300.00
Crown	PFM	1	\$1,340.00	\$1,340.00
	Implant Crown	1	\$1,700.00	\$1,700.00
Crown	Stainless	2	\$260.00	\$520.00
Removable	Stayplate	2	\$700.00	\$1,400.00
Implant		1	\$2,400.00	\$2,400.00
Removed Space Mainta	ainer	1	\$75.00	\$75.00
Occlusal Adjustment		1	\$85.00	\$85.00
Total Dental				\$53,215.00
Vision				
Exams		93	\$122.00	\$11,346.00
Glasses Dispensed		120	\$85.00	\$10,200.00
Total Vision				\$21,546.00
Total Trip				\$74,761.00













































































